EMI1FE4A7TARIT ZERME

Z2-ZERERE

T AEE

3A2H £ 92 33 85 —
3A23H + 95 39 94 —
3H24H H 68 39 107 —
3A258 A 70 90 120 —
3H26H X o8 41 99 —
3H278 K o/ 61 118 —
3H28H K 99 61 116 —
3H29H £ 06 29 115 —
3A30H + 647 995| 1,202 693 979| 1,272
3A318 H 751 684| 1,435 789 716/ 1,505
4818 A 474 479 953 499 499 998
4828 X 930 484 1,014 951 200{ 1,051
4838 K 651 615 1,266 670 629 1,299
4848 K 639 706| 1,341 660 726| 1,386
4858 % 121 750 1471 137 167 1,504
4868 T 1,145 1,148 2,293 1,159 1,160 2,319
&t 6,025 5,804| 11829| 5,758 5,576] 11,334

1/3R=




EMI1FE4A7TARIT ZERME

b4

Z2-ZERERE

AL SERMEER —ERBREAES

3H22H % —

3A23H * —

3A248 H —

3A258 A —

3H268 X —

3H27H XK —

3H28H K —

3H29H £ —

3A30H * 405 923 928 418 929 947

3A318 H 459 520 979 470 926 996
4818 H 320 381 701 324 386 710
4828 X 363 442 805 364 444 808
4838 K 445 913 958 449 516 965
4848 K 404 496 900 405 499 904
4858 % 425 066 991 427 969 996
4868 * 698 797 1,455 658 797 1,455
=X 3479 4,238| 7,717 3515 4266/ 7,781
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EMI1FE4A7TARIT ZERME

Z2-ZERERE

a5

(REE+(F2)

3A2H £ 92 33 85 —
3A23H + 95 39 94 —
3H24H H 68 39 107 —
3A258 A 70 90 120 —
3H26H X o8 41 99 —
3H278 K o/ 61 118 —
3H28H K 99 61 116 —
3H29H £ 06 29 115 —
3A30H + 1,052 1,078 2,130] 1,111 1,108 2,219
3A318 H 1,210] 1,204 2414] 1,259| 1,242 2,501
4818 A 794 860 1,654 823 885 1,708
4828 X 893 926| 1,819 915 944| 1,859
4838 K 1,096 1,128 2,224] 1,119] 1,145 2,264
4848 K 1,039 1,202 2,241 1,065 1,225 2,290
4858 % 1,146 1,316/ 2462 1,164 1,336/ 2,500
4868 T 1,803 1,945 3,748 1,817 1957 3,774
&t 9,504| 10,042| 19,546] 9,273] 9,842| 19,115
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